4 '
-
PRICE LIST
ITEM NO. PART NUMBER PAGE | NOME NCLATURE
AN2L-10 29 | Bolt-Clevis 1/4-28
ANZl,-16 47 [ Bolt-Clevis 1/4-28
JLN2A‘+—-1} 47 | Bolt-Clavis 1,'1.'28_
ANZ2L~19A 100 | Bolt~Clevis 1 L 28
AN24--20 79 | Bolt-Clevis 1/4-28
AN 2Ll ds 59 | Bolt-Clevis f‘&. 28
AN24~56 61 | Bolt-Clevis 1/ q 5 10 AL
AN26-28 45 | Bolt-Clevis _‘)‘ Yee Uy
ANL2-3 81 | Bolt-Lye #10-32 m;_gﬂ’lc Pir 255
ANL 2=l S'f Bolt-Lye #10-32 for 3/16 Fin ' i
ANT6A10 298| Bolt-Aircraft Drill Head 3/8 . ﬂ
AN150=-165 103 | Turnbuckle Assy-Fork 1.00 . ras
AN155-85 85 | Barrel-Turnbuckls Rt W
Mi"j:-—-}Z.) 75 | Barrel-Turnbuckle __gh3 . ke
AN1S1-2ZLL 75 | Fork-Turnbuckle 5.
ANLIS ) =2205 75 | Fork-Turnbuckle _ﬁ ujf.
AN Q_;,_—.{mt., 75 | Fork-=Turnbuckle _alids _-;!*\.
AN20CK 3 76 | Bearing-Heavy Duty 123 o
ANZIO-14 23 | Pulley-fnti-Friction Co _._g. -
4210-2 23 L ulley-anti-Friction vogtp J.93 e
AN210-34 75 | Pulley-antd-Friction Contro 1.3 e
4 alNZlO-LA 75 | Pullev-anti-Friction Control 2.26 5__'*
|_ANDDT-4 103 | Stud-Curtain Soan il
| AN3I0-3 7 1t -Aircralt Castls Ty
L AN3IC-L 8 llut-dircraft Castle
AN310-¢ 51 | Mut-Aircraft Castle
m-;.-J..L"‘L' <78l Nut-aircraft Castle
.h.u‘_.- 7 298| Nut-Aircraft LCostle B
.-.“4,__, ’JL_LL TS Nut-sircraft Flain
JJJ4§ L 8 | hut-aircraft rlain
Al G104 29 | Nut-Alreraft Check
AN316-51 47 | Nut=aircraft Check
-.uj“ H=bil 53 | But-dairsraft Check -
51 | Nut®iircraft Che rlf

Law

Ali716-23

Al316-108 65 | lut-Adrcraft Check 2
AN316-141 51 | Nut-Aircraft Check
all 3203 60 | Mut-hAircraft Shear

|__AN320-L 29 | Nut-Aircraft Ohear

_aN320-6 S hut-sirceraft Shear

AN320-7

kS

Mat-sircraft Shear

AH3LO-2

25

Nut-Light Hex

AN 34510

43

Nut-Light lex

35

Hut-Self lock Flate

358
33

 ut-oelf Locking

Lut-Self locking

,iJ

i



